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The first Union Minister of Education was mdependent
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(A) Mavalankar

(B) Nagendra Singh % 77/77/-9" A4 9| 67‘2} Jﬁ? +v| 073" “ f/

(C) Avul Kalam Azad
(D) Radhakrishna  # %3 % MY 9T ) gn'f‘? i) 7
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India in 2015 signed a border agreement with {-ﬂ‘l{[ 2
Ril

(A) Nepal W |
(B) Bangladesh ~A B qch | \“q‘l

(C) Pakistan

(D) Sri Lanka © ni%d F? ‘SF’& {S]%Ei h iﬂ.f
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(C) AGTAT el HTaY

(D) 3t HART —- 3‘?{ H%Eﬂ G‘Wﬁ)

Name of this road in Delhi Vadalkar“&PJ Abdul Kalam
Marg Kept-

(A) Aurangzev Marg 6 (“1 EHJ‘W‘ Q H"?”d | '

(B) Akvar Marg
(C) Mahatma Gandhi Marg

U
(D) Ashoka Marg _’W))}_
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(A) T e ~—qol0)
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(C) AT HTSATdT E—
(D) SferdT €TaR wF 3T
who with satyarthi Received Novel Peace Prize?

(A) Angus Deaton ¥ JMW[ ﬂ?{ﬂ[ﬁr_? ?ﬁfﬁ@}ﬂ—, 104
(B) Malala

(C) Takaki Kajita A &f%c"r] W—v 'ﬁil%nw - 2019
(D) Lalita Bawar * mé{ﬁ(—, Wﬁ HB
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Copenhagen of this country The capital is-

,#W"’W
A 3FdIcTy -

(A) Germany
(B) Norway
(C) Denmark
(D) Sweden
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Usain bolt in athletics Partu

this country? - |G0M — 200 "
(A) America

(B) Ethiopia (‘ﬁ;} Qﬂ\/‘mf-r 2008 2012, P 2.0/4
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Which cartoonist's January Died in 2016?
(A) R. K.Laxman
(B) Sudhir Tailang
(C) Nek Chand
(D) Bala Saheb Thackeray
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(D)€ 9I¥FC

It's 'To Kill a Mockingbird' After 'Word' Harper Lee'sThe
recent novel is-

(A) God Help the Child

(B) The Worried Giant

(C) Go set a watchman

(D) The Past
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(C) fFe ATRET

(D) TSilg |TAET

Zion of lkshvaku'The author is-

(A) Amish Tripathi

(B) Rajkamal Jha

(C) Kiran Nagarkar

(D) Sanjeev Samota
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Discovery of plutonium Occurred by- l |
(A) Roentgen 1

(B) Marie Curie # Ll 'wo/
(C) Cclass {%
(D) Rutherford 4 1Y ]
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(A) SI3IEY
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(C) = geltet

(D) He®l S9H

Jonas salk its The inventor was-

(A) DDT

(B) Polio vaccine

(C) Insulin

(D) Sulfa drugs
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(B) drTeTy,
(C) el ,
(D) 3TI'FI'9?.
It is rich in carotene is found-
(A) Carrot
(B) Brinjal
(C) Radish
(D) Potato



J18} THHT WRAWYT FA YHIA A FIT &-
(A) FaRIPeT @

(B) faeifA=T D

(C) [Aerf AT A

(D) faeTiAT K

Its synthesis sunlight It happens in-

(A) Chlorophyli

(B) Vitamin D

(C) Vitamin A

(D) Vitamin K



1760 aTaT
(C) 10 Tt Hex
(D) 20 T HeX
One acre is equal to?

(A) 100 square meters
(B) 1760 yards

(C) 10 square meters
(D) 20 square meters
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(A) air pressure

(B) sound intensity
(C) ocean depth
(D) resonance



